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Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_Home Science 31.01.2024_09.30 AM TO 11:30 AM
Exam Date : 2024-01-31

Exam Time : 09:30:00 AM To 11:30:00 AM

Total Marks : 100

Note : The correct answer is indicated by the green color. ALl
¥cllol Glal 31 GlRL yUddIHi w1 8.

Question List:
Section: Section-A

State the types of evolutionary research --4&li%el AAltetoll UsIR ¥ LLcl
(1) Contemporary evaluation --- (1) AuUsidlet QIEL]

(2) Periodic evaluation —— () UIMLRLS YRlisel

(3) Final evaluation - (3) ¥i[dH Y&Uisel

(4) Political evaluation---(¥) mrﬂ[?ts li\c'ilifs*"l

[ 1 Mark |

s 1and2-9 W R

= 1,2, and 3-9,3, ¥ 3

n 1,2,3,and4-9,%, 3, Ao ¥
» 2and3 -2 W 3

Cricket run data is related to which kind of scale? - (83241l ¢l 3 sUL Usl2<il HL[Ed] £21(d B2 [
1 Mark |

» Nominal scale -sl[HULA 1281
= Ordinal scale-5Hd IS €120
= Interval scale-vid16 H12BL
= Ratio scale-2[RlldlR €181

Which of the following intermediate criteria is used to calculate the nominal scale? - sllHULA
t12031eil 21 1dZ]l HI2 Hraddlell $UL HIUESell GUALdL &L B. [ 1 Mark |

s Mean -H&S

» Median-Ht|2&|

= Mode-WgdsS

= None of the above. - GURLscH el 215 UBl «ife.

The annual income of the family; this data is related with which kind of scale? - §§0~l°‘l'l alfls
2145 vl HI[Ed]l Bal usiRell 82 [1 Mark |

= Nominal scale - sllHY[A hn?.Ql
= Ordinal scale-SHd IS 12
= Interval scale-¥id21d 12



= Ratio scale-ﬂ':’.ﬂ'd?. U ETE]

e What kind of data is collected through the questionnaire? -usiladl szl As[EAd s w11d4]
Hil&dl 3al usiell 8?2 [ 1 Mark |

= Time series data-HIHL[AS AQ(]

= Cross-sectional data-$1 [de11o01 Hil&d]
» Panel data-Usld HI[Sdl

= All of the above-GU2L5d dHIH

¢ What kind of source is a book written by an expert called 'Review of Gandhiji's Autobiography' to
examine the values described in Gandhiji's autobiography? -Dl'l*-l'].‘(b)d’l N RTELI R
ARIRE YAl dULA 5L HIZ 518 do% Stel itl)eil wiciseleil AL ollHe] QUG Yis
$ULUSIRa], Jld dLUA? [ 1 Mark |

= Primary reference-WLeL(H5 Ueeldld

= Early reference-WI2(015 4 eeilld

s Supplementary References-Yx 5 deolald
= Secondary reference-20181 &1\ d

e What is a pilot study? URNOLS WAL Qj 82 [ 1 Mark |

= An experimental study -UIA1[3LS €128l 5l A5 WYL,

= A study to test the tool of data collection. UL[&ddl 2AAsell Altetal UsIAAL HIell
BEALA.

= A small scale study. -ellotl UIA $cIH 4 1dd] w5 16U,

= A study that is conducted first time. -U&lH dl2 SAIHL 2 lcldl 15 WU

e In which research method is it necessary to check the effect of grooming on the sample characters?

—olYailell ULol U HId%d d2LISla deil U2 dulddle s1A 58 AN Ul UegldHi ¥ D2 [1
Mark |

= Experimental method RIS uagf?t

s Cause-comparative method -518l-d@ellcHS lltf,fa
Developmental method- [AslALHS U.i(,[a
Historical method- (AL U.ig[a

e The problem solver and the researcher are the same-34H¥Il ¥H{s{HdslR Vol 2l s vid W5 ¥
SlY V- [ 1 Mark |

= In Action research -($UlcH$ A2ltsiUi
= In practical research-Id&lRS A siHi
» In basic research-HU1¢d v

= [n basic research—%la:&lQl YENE

e The eating habits of people in urban areas are different from those in rural areas' - which research
method could have been used to achieve this result? -A1R $dl A& [Ad1Re11 Glsleil VRS
2l %El 8- 58 dMltel Uegldetl Gualolell w11l URBLH H®R] &212 [ 1 Mark |

Content analysis method- E{NU.CR(L CRANERIT7AR]
Developmental method ([dslAlHS U.ﬁf,[a
Historical method-2A (AL ueg[a

» Survey method-%la[&lQl lli.g[;l

e What is the type of information that classified below? Classified information: (1) Pass (2) Fail
Ailsd scLMi 1] HilEdd] Bl usizedl 82 adilsd Hil&dl: A) UL () ollUIA [ 1 Mark |

. Binary-nominal-(*{lgda-ﬂ-lﬁlt"l(‘l
= Binary-ordinal 1S u\ St

= Ratio measurement -2[Qlltl2 HUel
Interval measurement-{d2 6 H[Usl



The data collected from published reports is known as: “usil2d vealeluiel AsM[Hd s
Uiledl  d3 vlaviid 8: [ 1 Mark |

Organized data 216dd Hifedl
Independent information-¥clci= H1 (&dl
Secondary data--’ﬁ@,l Hiledl

= Primary data-WI2 (1S HI[&d]

If the Critical region is evenly distributed then the test is referred as?-%\ U{%Cﬂ{sﬁ !-l%.%l*’i
AUl (Al 2dd Sl dl, uleist A3 WL ). [ 1 Mark |

m 2-tailed
s 1- tailed
= 3-tailed
= (- tailed

Alternative Hypothesis is also called as? -As(Cus uRseyslla a3 ug wlaviy 8. [ 1 Mark
|

Composite hypothesis-435d yRseysll

= Research Hypothesis-%i?ﬂﬂd uRseysil
Simple Hypothesis-4201 URS&sl|

Null Hypothesis-(1215123{14 U[R s

The purpose of hypothesis testing is to: URsAs1L Ul éq, v 8: [ 1 Mark |

s Test how far the mean of a sample is from zero (el ol Heus %Lcileﬂ Sedl & 8d
USIUAL HIR

= Determine whether a statistical result is signiﬁcant-U{i.‘sSL‘;lll URRIH «AluulA 8
Al A [AUiRd 28

» Determine the appropriate value of the significance level dlelsdlel 58 1o Y)oY Y& o551
SALHIR

= Derive the standard error of the data -HL(&d|<{l UHIBLCd ?Lél dlRadl e

The difference between a statistic and the parameter is called: -ViSSL ¥l UIUG A ell d{slckla
s$&dIHi wid 8: [ 1 Mark |

Non-random - &89

s Sampling error -(sie2let o
Probability - lcleil

Random -4 &8

Which of the following is not a probability sampling? -s{lQei1Hie]l 53 Aetldeil 21ULRA [de2le
oieil? [ 1 Mark |

= Simple random sampling-+4U1 Y&9 (e.2let

= Stratified sampling-{d?]d [c1¢.2le1

= Quota sampling-[eldd (&1 (scil2l) [ele2lel
= Cluster sampling—ail-l’l*l'l (cluster) (c1£.2[et

Stratified sample is used when the population is: 2dld [e€2lel U.t(,[ad'l GuAUI2L IR SCIU
U YwURUUMR _ SlU . [1Mark]

= Homogeneous -HH sl
= Heterogeneous-H 21
= Too small -Wo{ silefl
» Very large-W®* 12l

The sample section in the research proposal needs to provide information about
2Nuet euRdU [siedet’ [Aeidtui (@9) L&) Welet 52AM A B, [ 1 Mark
|

= The software used -% 41§2d2 dURY B



The names of participants - UEH (1) ot 1H)
The sampling population - [c1e.2ie1
The type of analysis used - (ANl USIR

e The two important components of research responsibility are: sincerity in work and avoiding

. - A2lYel aluielell 6 Hecdywl g2s) 8: sidHi UIHLBISAL w1
ol WAL, [ 1 Mark |

Plagiarism - AlleuUl?
Confidentiality- I Hcll

Research techniques - S CE R EGIER
None of these - A1l 5 Ul i

e Abbreviation 'ibid' used for footnotes and Bibliography for - é\ad]?:%{ e JJQﬁﬁll-ll 'ibid' <ll
GUUL_ MI2 sAIMi ¥i1d B. [ 1 Mark |

Same reference - HHlol H‘é.@'[

Same person - HHlel U (&d
That is

And others - 3ol W]

e In which sampling method population is divided into different strata and sample is taken from
different strata ? - 58 [eie.20ol UegldHi AU R I WA Ui dSUAIH A1 ) Wal
(cle.2iet 31691 3162| 2cduiefl Acini w1d 82 [ 1 Mark |

Quota sampling - sdlel el

Stratified sampling- 2dld [ele2lel
Snowball sampling - wilodld (el
Purposive sampling - é(jl-j\Q[ [e2let

« Full form of MLA style: - MLA 6lef Y&l 2c13eU: [ 1 Mark |

Modern Language Awareness
Modern Language Academy
Modern Language Alliance
Modern Language Association

¢ Population value is called- qule HR| $&qIHiuId 8 [ 1 Mark |

Statistic -i5SI51Y
Parameter-Y 114
Variable-4€R1(21
Information-HL(&d]

« Why do you need to review the existing literature? - dHI2 Sl€oll All&le(l 21 &1l 201 UL
$qlofl % 82 [ 1 Mark |

To make sure you have a long list of references - Wid?l sl HIZ 3 duI] uld deeilsil
qiofl 3R &

Because without it, you could never reach the required word-count-51l 5 qell (Astl, ail
KUY AU 210£-21RLdF] U UST] 2521l 1]

To find out what is already known about your area of interest - clH 2l 2L AN

uédeil 9 nild 8 d Aluar v

To help in your general studying - dH 121 U 1H1e AWEALY A HeL Y[ 8.

o AtypeI (1) error occurs when we: - U&lH UslReil ’{LZ'I AUR ALY B RUIR: [ 1 Mark ]

Reject a false Null Hypothesis-bnél (c1150U URsUs11A aislRAIM 2114 &
Reject a true Null Hypothesis - U101 (12151014 U[RsUstla eis1RA 1M 2419 &

Do not reject a false Null Hypothesis - W12 (1215004 URs&Ustla dslRd M| ldd]
sief]

Do not reject a true Null Hypothesis-413] (¢12158{14 URSCUel o sis1Ra 1M 241dd] =12l



Level of significance lies between: [ 1 Mark |

-1 and +1
0Oandn
0and 1

u
[ ]
[ ]
= -00 tOo +00

Reliability and transparency are fundamental: - (czldofludl 21a UlRe[2Udl HANGd 8: [ 1 Mark
]

Issues in business. - €151 AHRU U]

Ethical principles in research. - 2i2lltslsll alds ﬁ-li.g.ld-h-l'l.
= Requirements in research. - AN estof] eI A LAIMI.
Methodologies in research.-42Lltel Usg REZNRNT

Good research proposals will always: - -2l A20lYet e_UIRALMI 2Ll :EQ: [ 1 Mark |

= Focus on addressing the research objectives. - {2lltlsl éq,bﬂ U el Jlogd 5q
= Provide respondent names and adﬁl_resses. - GdReldlell otlH) ol Al H i)
» Focus on the Harvard style. - €4S el U el %[ng 5.

= Consider all possible research that had previously been done on the topic - 41 CLUIRVE]
UG AL AL dHIH A [Cld Rllteta el Al

What is a sample called if it represents one or few characteristics of the population more than the
others? - %1 d vl Sl dy dcloil V15 weldl ellS] dlaiBLsd il 9% 52 dl d dysila 2f 5&
82 [ 1 Mark |

s Good sample -HIR| elHsll

» Bad sample -W2lH eiHeil

= Biased sample -ua-ll-lldfl ol}qil

= Ineffective sample -[MeAMHS1RS ol¥sil

The principle of informed consent is:-2Ls13l Nﬂ‘-lr&ﬂ.l ﬁ-ltqld 8: [ 1 Mark |

Of little use in business research.-Ad} L[S Al\e=1Hi 215l GUUL.

A key ethical concern.-UlcleY al[ds vuld

Essential to the relationship between the researcher and the research project. - dAYelsIR
ulel QUlelet U152 Aol Aoit HI2 u1dUS B.

A key data gathering method. - H&cdsil HL(&dl X157 s lef] Ueg[dl.

Which symbol represents the mean of population? - U [Roli Heusa sUL Rles 93 satiddii
u1d 8. [ 1 Mark |

NE NZ

If Mean > Median > Mode then which type of skewness is it. - HtUS > Ht|e| >0 SE S ely dlu
$UL USIReAL [ANUAL 8. [ 1 Mark |

= Positive skewness - tel [N U

» Negative skewness - B8l (ANl

= Zero skewness - 2/ (ANl

= None of the above - GULSdH il A5 UL «if&

Addition, theorem states that if two events A and B are mutually exclusive, the probability of
occurrence of either A or B is given by: “ARdlledl WY SR X %) 0l elesiiuil A W B
URAUR [eldlRs Sl dl, A wiedl B Keidlefl eidell : [ 1 Mark |

= P(A)+P(B)

= P(A) x (B)

= P(A) x (B) - P(AB)

= None of these - GUL 5y S5d W5 UL «ifs



if y=0.15 x - 1000 is a linear equation. Find y when x = 1200. ,
-y =0.15x - 1000 ¥ YAl M5 1Y AR x = 1200 S1A cdl y A4 [ 1 Mark |

900
800
700
600

What is a MATLAB script file? -12Q6 [R$2 §18d 2| 82 [ 1 Mark |

A text file that stores MATLAB commands-252 §196 B H2Qul sMIe5 AAUES 52D
An image file that displays plots-&1% §16d % uﬂa%l e21ld 8

A data file that is organized in layers-sal s1o49 % desSIHIdedld B

A program file that is executed by other software-WIAIH §L6E % W H152dR G2
YglddHi11d &

What does Microsoft Excel do? -Microsoft Excel Qj, 52 8? [ 1 Mark |

= Create graphics -Qll[:%fs%l weildd]

= Store and analyze data -521 2212 $d| ¥4l (ANl 5]
= Build websites -AHA4 182 Weildd]

= Send emails - 9R8E H154d|

Percentage (%) sign is used in an URL to represent : - 2sldiRl (%) [RiEell Guldl URL Ui Y
SALHLS ALY D: [ 1 Mark |

= Space -¥d5(2l
» Data-52!

s Time-dHU

= Person-<(5d

What is an array in MATLAB? - H2QuiHi 22 324 92 [ 1 Mark |

= A series of continuous data points-¥dd 521 Iﬂif)f?\,%l"ﬂ il

= A collection of data arranged in a grid-J,ﬂSl-li olledd Seledl Aus
= A data set without a structure -6itl[2l ddR¢1] 521 }2

= Information stored in a text file -25% SLOEH] A HL[Sd]

What steps should be followed for data storage and management? - S2l A Vol cqrelIye Ul
SUL UG oL FISW? [ 1 Mark |

= Back up data Sl isuy E‘l%

s Keep data in its original format -32la deil Qiiaui u{d)
» Document data-521 £ 1A%) 52

= All of the this-GURsll 64t

A person’s age is three times more than the age of B person. The total of their ages is 64 years. Find
the age of person A anq_ B. - A [$deil GUR B culsdlell GHR $di AL 2RIl qulR 8. viA+il
GHRell AL 64 AN 1A B. il A el B U [Scivileil GUR 2014, [ 1 Mark |

48, 16
16, 64
64, 16
22,42

Q is shorter than P but taller than R. R is shorten than P but taller than A. W is shorter than A. If
they stand in ascending order of their height, the order in which they are standing would be: - Q N
P 5l oflAl UBL R 5cli QI 8. R 3] P 52l il UBL A 52dli G1UL B. W A A sl «ilUl B. %)
A1l Uldlell QLuLeSetl USAL sHUI GeLL ¢ il AHell Geil 2&dllell M &2: [ 1 Mark |

= WARPQ
= ARWQP
= WARQP



= WRQRP

e In a garden, there are peacocks and four-footed animals. All these 98 feet and 35 heads. How many
peacocks are there? - 3§ 6{AIHI 32dis HI2 ¥al YIR Wdldlnl UL 8. duleil wHl Hoila
98 UL el 35 Hlell ALY 8. dl i 32di H1R &212 [ 1 Mark |

= 19
= 21
= 23
= 25

e In a row of girls, Bindu is twelfth from either end of the row. How many girls are there in the row?-

91502 lell SANUI [Gigoell sici2 0 BSell viRU] 1d 8. dl sANUi 32l 915l A2 [ 1
Mark |

= 13
= 23
= 24
= 25

¢ From Vadodara station, if we buy two tickets to station P and three tickets to station Q, the total
cost is Rs.77, but if we buy 3 tickets to station P and 5 tickets to station Q, the total cost is Rs.124.

The fare from Vadodara to P is: - Yl 22lsiell 222101 Poil A [2[s2 el 2211 Q <il AW [2[52
wiledl §4 WA 30,77 ALY B, U, %] ¥2Ael P oil AL (252 v1al 22161 Q <l 5 [2[52 Wl ealni
1A dl $6 WA .124 1Y B. dl Y2cieil 222101 P of @iLS ¥l [ 1 Mark |

= 13
= 14
= 18
= 20

e He was sent to the prison for his .[ 1 Mark |

= Sin

= Vice

= Crime

= Guilt

e The American could not decide which ring he wanted to buy. (Replace underlined verb with
phrasal verb from the bracket.) [ 1 Mark |

= Make with
= Make up
= Make out
= Make in

e She is a very regular student. She to the college every day. [ 1 Mark |

= Comes

= [s coming
= Was coming
= Coming

o Select the correct sentence from below: [ 1 Mark |

If you had worked hard, you will have succeed in life
If you work hard, you would have succeeded in life.
If you had worked hard, you will succeed in life.

If you work hard, you will succeed in life.

. it is raining, lets drop the plan of going to the picnic. [ 1 Mark |
s Therefore
= As

= So

= And

Section: Section-B



o is used in fabrics for apparel, hosiery, lingerie, and sportswear. -

................... $1US ofl A0, S1[35U3), o] el RUN2UAR HI2 GUALIL ALY B. [ 1 Mark |

Spandex-¥4 loSsU
Acrylic-@% CE
Polyester- Ulldx2e
Cotton-5Uld

¢ Yug is a SAM weighing 5kg with no medical complications. How many packets of RUTF does he
needs to consume in a day? - Y2, 2] Y (54 qoseieil ?‘QHQQH(SAM) olLNS €9, BUI SIS doiledl

Sjuqil oteil. da As ([eauui U1RYZ1V oll (RUTF326L Uslell du12lL sdleil % 82 [ 1
Mark |

1 packet-1 use

2.5 packets-2.5 RER
2 packets - R U2l
1.5 packets -1.4 NER

« Applying ergonomics to the workplace can — L2101 U2 A{lel[(H 54 d1d] s Lell:
i. reduce the potential for accident. — i. ¥$¥[dlo{l AIdatlla aeLsdl;
ii. reduce the potential for injury and ill health. --- ii. &%l Vi ollgred 2 1esi] eildella
g21sdl;
iii. improve performance and productivity. --- iii. S1H{13] vial GeuleScllMi Qi*-ll?] sdl.
iv. Improve happiness quotient. --- iv. ¥ Weil Mldui Ej*-ll?] 52 [ 1 Mark |

. i, i, dii
. i, i, iv,

. i, i, iv

= All of the This - GUSd dHIH

¢ Surface-active reagents added to stabilize two phases are called - 0] dussivilal (RelR saL HI2
GHRALHI v1Adl HULZl-u[5YU IAweRUA s&cliMi viid 8. [ 1 Mark |

» Emulsifying agents-9H[GR1§1621 2]
» Stabilizing agents- Rei1 501 Woe2)

= Adsorptive agents—b{[gli’_nhl.‘s AL

= Reactants- W(545)

e Low blood sugar levels after meals may be caused by:- % RIL uel clelui {PR*"[E CUTENER
$126 A A3 : [ 1 Mark |

= Incorrect carbohydrate counting- WYY 51041@1833 ALl

= Too much mealtime insulin-At, USq ¥Hdls] &Y (Cs]
= Increased activity right before or right after the meal (that requires an insulin dose

adjustment) -%RAL U&E] Ad| 1L U] dd % dad] A(sUddl (BUL ©Y[Aststl Slps]
AU A% %3] Sl B
= All of the this - GURLSdl dHIY

¢ Silk and asbestos are examples of following types of fibers respectively-iﬁll‘-l Vo 2021 A
ollAeil UsIRell R Leli BELSWAL B: [ 1 Mark |

= Cellulosic and mineral-J &) (%8 A Wi (el
= Protein and cellulosic-W12lsl Wal {q@;l,cﬂ (s
= Mineral and protein -W[1% wa U12let

= Protein and mineral -W1Zlet Wl vi[s1%

¢ At Anganwadis, non-formal pre-school education is imparted for children between the age of

A PIRIALSIANUI, «fl aY dAeil il s HIZ [G1el-201uALRS Yd-2u10l [R1a1eL viudini #1414
8. [ 1 Mark ]

] 2and3years-221-la3q\[
» 2 and 4 years - 2 M%4q}l
= 3 and 4 years-3 W 4 dy



. 3and5years-30{a5qq

These yarns resemble caterpillars, as tufts of fibers are inserted uniformly inr the yarn twist,
perpendicular to the yarn: - 31l dlei 32204 ML 1d B, 5131 Yleioll [F2HUi Rlell
2s2U WsA{ A eluid sl v11d B, B Uleial GuleY Sl B:- [ 1 Mark |

Nub yarns -s3J04 Ul
Boucle yarns - ¢445¢ o]
Chenille yarns-acﬂc‘l Yol
Flock yarns -5€15 Ul

Which of the following about the treatment of the message for nutrition health communication is
NOT true?

UIN G B IR12Y Uclldel HIell 2t2llell ARAIR (A2 o{lAstiniell 53 AL «12{l? [ 1 Mark |

. Iérefers to the way in which a message is handled - 22N &e56 $20llef] cleodl Aeol Wi

= [tis a way of modifying the message—a el Yuld {1 25 3d &

= [t should be the same for all types of messages-a AUIY USIRell AR AL UL AUl
Slq ¥lgu

= [t helps in making the message more understandable - Az dy HHY) AUSLU a%
WellddHi Hee 28

Which is the choice of delivering food services in Akshay Patra? - &l YaAHi \‘{\S H[a:%l (slaar
$dleil Ueoil 56 82 [ 1 Mark |

Ready-prepared food service-dd 12 VLS Adl
Conventional food service-UU12ld WI2LS Jdl

= Commissary food service-§[H21e13] $S AldA
Assemble serve food service-A A yd $S Aldy

Late childhood is also known as - Late childhood ............... a3 uel Wlawiy 8 [ 1 Mark |

s Pre-school period-I{\CI-%llUll {HA2 L

= Gang age-Jlol dY

= Pre-gang age-q\df-ﬂJl dy

= Period of storm and stress-dl§lel ¥4l dQllclel]l qHU(L0

Following are the properties of egg.-8Slsil DJQNHT oil H¥ol & [ 1 Mark |

Binding and browning ~oitsisdl wa WiIG[al

Emulsifying and browning-UalS] (M3l A 641G [+121
Thickening and addition of nutrition-¥1$ &g el UlNGI GHRq
= Leavening and addition of nutrition -Eﬂscj, Ao UINR| @ﬂ?ﬁj‘,

A female infant will have the following pair of chromosomes-il [El{l,‘-l.l oflqsil '\.’.Dl%k’l.ld'l LN
2l [ 1 Mark |

= XY
s XX
= YY

= None of the This-GUSsdH el 518 «1S]

Name of the loosely constructed, heavy weight, plain weave fabric used as a carpet backing, and as
inexpensive packaging -&l6¢l I1d olitdiMi w1AdL, MR d¥eidlol, ALel dll2ell SIUSeil olld
@ s1Ue QAE01 Ay el Ul UL d3 GUAIMI AdIY B. [ 1 Mark |

Canvas-5e1d 14
Burlap -0{d{u
Damask-&H IS
Chambray Ay



Interlooping yarns is also known as : - 808?.C1\m3l Ylolal o1 H¥o Yl vlwaiii wid 8: [1
Mark |

Weaving-dille

Knitting-d'l (a1
Felting-o{@{(cl
= Macrame -H53H

Presence of coliforms in water implies that water has been contaminated by - . uiilui

sI@g1aell 182l U B F ULl Aletl Gl &N &4y D [ 1 Mark |

Toxic waste - H3E] 5U2

Silt, clay and sand - 51U, U121 A 3l

Microscopic plants and animals - HIO51251(US detud o U1l
Sewage -21224] ULQI(l

Childhood is often called the ‘ideal age’ for learning-(*ll“l\l'%la 12l qud 2wl HI2 uieel
YIU' sEAIMi w1d & [ 1 Mark |

= Social skills-HIHLsS Sl2AR0)

= Motor skills-H122 $121¢

= Moral skills-A(cl§ $12I&R0)

= Emotional skills-®ldsllcHS $12ARI

If a 3 year old girls weight is 15kg and her‘_hemoglobin is 10.0g/dl. How much ml of IFA syrup
should be given to treat anemia? - %\ 3 dNoil Wl Sl A%el 15 (56l W [SHIEL (G141 10.0 21/
S1Ad &1 dl. AleAMaledl HRdAIR HI2 218V §V] 21Ul B26] m1 241Ul S1S$21? [ 1 Mark |

1 ml -2 (.4l
1.5 ml -2.u (M4l
2.5 ml .U (M4l
2ml -2 (Mdl

The time of greatest psychological stress and strain occurs during Al qay Ul RLS dlgl Wal
dlRleil UMY L (AL GeMd B. [ 1 Mark |

The early part of adolescence -[§20121d2el =il WI2[615 @111
The later part of adolescence -(seUlR1gedlell Ugslsil @1l

Late childhood -Late (1AUBL

Young adulthood -Yu-ddy

The appropriate disciplinary technique used by parents for a school age child should be-. Lol

d¥sil WS Hi2 HidLUdl glrE GUALAUi AdIMi Aldd] Q1Y [R1d il dseils Sldl %163 [ 1
Mark |

Authoritative- [Eli_sd
Permissive-UH1[R1d
Democratic-SH15(25

= Over protective -t USd 2&QIIHS

Any work that deprive childrel}_ of their childhood refers to -01l0151al AMeil wilnugLell ¢Rd
vl SIS UL S13 vloll A WIU S [ 1 Mark |

. Juvenile-°§a.°1[8@l
Giftedness -5[825&%?:{
Adoption-&tlS ég

Child labour-41 M3

Rickety rosary is seen in the deficiency of -R521 ARl GRIUUi FdL HA & [ 1 Mark |

» Vitamin C-[d2[Hel ]
= Niacin-[=14 [l
= Vitamin D-[aalﬁ-ld Sfl



= Riboflavin-[R1sA (At

e The beneficiaries of Supplementary Nutrition in ICDS are-B{1OA1SIAAUI Yrs (ML
qrettefll v41 Yool 8 [ 1 Mark |

= Pregnant, lactating mother and children below 6 years-H3l("l[, ddelUlel s1dd] Hidl
a6 aneil 2i1e] qUeil Wi S

= Pregnant women and children below 5 years-HL®1 3{120) v4al U qne]] 21169] deii wiln1s)

» Pregnant, lactating mother and children below 4 years--’l@{ckﬂ, delUlet SUcd] Hldl o 4
cye]] w)&9] GHRelL il s

= Pregnant women and lactating mother-(U2L@L[ B{121) 24e) xdstulet sUcc]l Hldl

The major crisis of adolescence is-. r!;%n?.lq{ﬂlﬂ ulg 52 ® [ 1 Mark |

= Identity Vs. role confusion -{101W Al ¢{[H 51 Yoha Rl

= Self-image Vs. self esteem-3cl-W (4L (E{btq T CSRITE
= Problem solving-H ¥ le] YH [l

= Disagreement with sibling-®16-6d&e1 19 Hd®le

Unity can be achieved by-. ¥15cll ¥loil IR1 WIH $2| AS1A & [ 1 Mark |

= Painting one wall in different colour-A5 [edl€al el el AL 2d]
» Variety in furnishing-§ EICERRCICERT

» Contrasting colours- [aRlaiet1d] 220

= All of the This -GURLScl dHIH

Which stage of Erikson’s theory corresponds to early adulthood stage-@.ﬁ.&%{ddl ﬁ-ligidc“n sl
doissl Yuddyeil IRES dulssial Aej2eU & [ 1 Mark |

= Integrity Vs. Despair-b‘lb-'lgddl vs. (=211

= Trust Vs. Mistrust-(AA% 1 vs. (A1

= Identity Vs. Role confusion-31101W vs. ("Lﬁ-lfsl HovaQl
= Intimacy Vs. Isolation-¥l{lAdll vs. 1O U1A 201

The direction in which development takes place in children is ol sIHi (st 3 (eeuni a8
d®[1Mark]

= From top to bottom-Guell «{1A {j}ﬂ

= From outside to centre-4& 1R8] 5ot {-Ltﬂ

= From smaller muscle to larger muscle-clloll 2113ef] H121 21y il

= Differently for different children-‘fgi.i ‘§i.i ollnsl M2 ‘@'i:l ‘§E:l Ad

The fluid thaz protects the foetus from shocks and changes in temperature and sound is known as-
@ UdLE] d1e{a Blellcl 2ol dlUHlel Bal ealclni Ul 325121 Ul &1L 21U ) dal sUL ol
vludidi wid 8 [ 1 Mark |

= Umbilical cord- (x4 (@56 <1101
= Amniotic %2125

= Placenta-\@QAe2|

» Pouches-UlGY

e Assertion (A) Addition of Soda Bicarbonate during cooking of green vegetables makes them bright
green. --

elcil () clell 2ALSELLA)eil RANE vleilcldl dwd HLSL wilasloilazell GRR saleil d ynsdl
dldl vial 8. Reason (R) The pigment 'chlorophyll' changes to pheophytins in alkaline medium.--
$18L (R) e 'eRedge’ WIesaI9el HitdHHi [SI51S[(2o1Hi (edld B, [ 1 Mark |

= Ais true but R is false-A U1} ® UG R W12 &

= Both A and R and true-A ¥{al R tial el AUl
= Ais false but R is true-A Un@ 2] Ud R A1y 8
= Both A and R are false-A el R 6ol 1121 8



e The ability to compare and arrange objects along a particular dimension (in pre-school children)
is called -dqlell deiell sclefl ¥al dal w18 AlssA URMILL ALl A sadle(l udl ([U-2g4sti
oLl S SSaIHi 21d 8. [ 1 Mark |

] Classiﬁcation-qJH!s?.Ql
. Conservation-%{?.&l'%l

= Seriation-2[RA2le1

= All of these-GURLSd dHIM

e Which of the following is not an attribute of human milk? D ETRITON] SEi, URua Yielq g&l*’i
&1L «1efl? [ 1 Mark |

= High lactose content—afsaaﬁf{l @{-L UHIBL
= Antibody content-Ae2|611S] A1HAL

= High mineral content-G¥{ W (el vl
= Oligosaccharides —Nl@lJHHl%{l?)@%{

e Two things correct about the David Berlo’s model of communication are that: --. 3(as dleileil
At2AlcudeiRell {13 (A A oiieddl ARl B d w11 B:
i. it is linear in nature - i. d us;[&u.i iy 8
ii. it is cyclic in nature -- ii. d usly us El{l, 8
iii. it is an analogous model -- iii. d s AUlel U134 8
iv. it is also called SMCR model - iv. dol 1. 211 L. 2412, H1Sd UL s&dlHi »11d & [ 1 Mark |
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« 33. Bulky yarns are made by: - 12 Lol dllell G121 WollddIHi 119 D
i. Modification in chemical spinning —i. AA1U(8Ls RU[IdHI 3§12
ii. Varying the cross-sectional shape of fibres -- ii. el sl AsAsid WLSIRUL 3512 sl
iii. Varying the pressure of extrusion through spinneret -- iii. Rueie l-ll?.{sa olElR sledlell
£OLIRIHI $RSIR Sl
iv. Addition of bubbles using air duct - iv. 32 S5241l GUAUI2L 5ol W2l GARAL [ 1 Mark |

iii, iv
iv, ii
iii, i
ii, i

« 34. Transitional period from childhood to adulthood refers to: — tilIuBIe{l Yyudad 2ife2ueid
AHUL0) ViLoil A6 VI B:- i. Physical growth — i. ALZRS (A5l
ii. Emotional growth -- ii. ¢lclelles o
iii. Personality change -- iii. e (Sdcaui URadst
iv. Social change - iv. ¥IML[%S URddel [ 1 Mark |

1,11,1i1,iv
1v,111,11
1,111,1v
HiL, i,

e The term egocentrism means that children-1&512ldll 210601l viel 1Y DY vyl 8] [ 1 Mark |

= Are concerned only with getting what they want-dHel @ X1V & d Anaal qLel %
[rroid Slu B

= Perceive the world from others perspective- (clsdal W Q@Es_lQl?—n {uex)

= Think a roundabout manner-20l012110 Ueg,(d &l (dUIR $.

» Are concerned about their ego-al-ldl WESRaAL Ridl 52 8.

o The Central welfare board was set up in-gcﬂll SRUIRL 6ilSeil RUINYoll .............. ERICTRITENE|
&cll [ 1 Mark |

= 1950 -1C\Mo



= 1953 -9€U3
= 1965-9C=\Y
s 1969-9C%C

« Examples of Regenerated fibres are --- Yol:GcdL[€d 4 le1l GelSWI &
i. Rayon fibre - i. 24lel §1HGIR
ii. Soyabean fibre -- ii. Alulofleiui L
iii. Casein fibre - iii. 3{lol §19GR
iv. Banana stem fibre - iv. 3Ulloll 224 §LO0R

v. Ramie fibre - v. 21 SLOWR
[ 1 Mark |

i, i, iii
1,111,V
11,1v,v
1,111,1v

¢ Who forms an important force in the society? UIUL sl l-lérqt’i A ED K2 [ 1 Mark |

= Women -¥il2{]
= Children-041015]
= Family-§¢¢

s The aged -9¢g

e The key terms in Pinget’s theory are: - QRELI ﬁ-liéiddl Hu 10¢] BL UHLIGL B: [ 1 Mark |

= Assimilation and Accommodation-%iﬁ-l%lQl Vol 286181
» Accommodation and Information-2€61Ql Wal HL[&dl

» Accommodation and Symbolism-?.éél'él U Udlsdle

= Assimilation and Information -MHedld ¥al HL[&dl

e Which of the following means 'Table of the host' menu? AR LTI .‘slj, ve2q 'sles 2#{-1{5 Y
&l Hef? [ 1 Mark |

= Table d'hote menu -Table d'hote 3-1°;|,
= A La carte menu -A La carte ﬂ"i

= Combination menu -3 %el ﬂai

= Buffet -0{52

e Osteoporosis is one of the common health problems of the A R R A ALy
BRAY YHRAIVHiol 218 & [ 1 Mark |

Aged -9tG

Pregnant mother IR [CTRINSH

Physically handicap RURIRSs A ([asqiatl
Delinquent YR IH]

e Pre-school education is mainly directed at -ILCJ‘..-QHUN (2raa J;L‘Rlca. Wloll U2 [[El2d 8 [1
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Motor development M2 [asid
Reading and writing -clidel sl Quel
All round development ~4dbil [asty
None of the This-GURLsciH el 51€5 1]

¢ Which of the following programmes was launched on 15th October, 1997? -o{lAst1Miel] s s1AsH
1997¢1l 1541 I52104R 20 SCAIH WAL &dl? [ 1 Mark |

s Child Immunization -G{U1& 8l

» Maternal and Child Health Services -Hlccd 3{al (4101 3cl12€2] A1)

= Reproductive and Child Health Services U AUl ¥a w10 WI1R1Y A1)
= National Policy on Older persons -9¢G U (S Ul ug’lu ol(d



Which of the following are the prospects of food service management? AR TR0 S aldy
Now ool $8 ASUAI 2 [ 1 Mark |

» Can be an entrepreneur in running food service operation -§S AUldY 21U3Uet UG ldd M
GlolAls (s wefl 23 B

Can become a teacher in schools and colleges -2L1U11 Wl slASIH Ql&l& olefl 25 &
Can set-up independent restaurants dd i @] 2k 8

All of these -GURNSd dHIM

In terms of additives, include both natural and synthetic colourants. -GARE1lA
@l . dui sedl va U V1Y vial UsIReAL 20ell AU AR &AL . [ 1 Mark |

= Flavours -SQCR:{-
= Colours -2l

= Sweetener -3cll2e1
= Gums

The signs of spoilage apparent in canning can be-3[ei211i Tuildl Ad warsaulieil Addl sl
23 O [ 1 Mark |

= Microorganisms -4 &1l

= metallic salts and discolourations -tiL[cdlS &lla el 21Q1€)

= Flat sours and hydrogen swell -4Ul2 W12 A SlOS1%e1 el
= All of these -GURLS5d dHIH

Which of the following is concerned with the measurement of human capital output in

management? -s{lAsi 1M el $3 cAdelUiHI HisidHSlell Gedleoiell HiUel Alel 2oiltdd 82 1
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Henri Fayol &3] sUle
Frederick Taylor -}Sﬁ.‘s 262
Elton Mayo -3 621 }]]

Nick Edward -[=15 2155

image | 1 Mark |
Match the following: - =il cileidl AU 520

List-I List-II
a. ECO MARK 1. Product certification
b. HALL MARK 2. Agricultural
marketing
c. ISI MARK 3. Honesty
d. AGMARK 4. Environment friendly
products
5. Jewellery

(a) a-2,b-1, c-5,d-4
(b) a-4, b-5. c-1. d-2
(c) a-1,b-3, c-5,d-2
(d) a-4,b-2, c-3.d-5
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e The final stage of play represents your child’s ability to collaborate with other children towards a
common goal is known as: -2Hdoll (AU dW1$S] AHIRL Gl Se(l ALl LAY HIS VoY Gl S)
A8l AsAL 541l &Hdle] UldlAlted 53 D, Bal oA Yosed 1w Ui AId D: [ 1 Mark |

= Solitary play A sid ™Md

= Parallel play -4HidR 3¢d

= Co-operative play Aesil ™Md

= None of these -GURLSsdH el w5 Ul «il

e Muslin is a fabric which is .- Hadlel As zhg, 5US D ............ 8. [ 1 Mark |

light weight and plain -d%=l{i U1 A Al§

= transparent and crisp URe2(S wa Yyu

heavy weight and thick ~HIR gyl ua 1K)

medium weight and loosely woven -HtH Aol wal &l Ild drid i 241d 8



